Zestaw Srubowy:

Volvo S40 (4-d), (rok prod. 1996-06/2000), M12X70-8.8 2 szt.

Volvo V40 (combi), (rok prod. 1996-06/2000), M12X35-8.8 4 szt,
M10X1.25X35-8.8 6 szt.

Podktadki okragte zgr.:

@10X31 6 szt.
@13 6 szt.
Podktadki sprezyste:
M12x3 ?10,2 6 szt.
Instrukcja montazu: @12,2 6 szt.
1.Elementy A i B przytozy¢ do podiuznic tak Nakretki:

aby otwory w elementach i podtuznicach
pokrywaty sie. Skreci¢ srubami M10x1.25x35
2.Do elementdéw A i B przykreci¢ belke
gtéwna Srubami M12x35.
3.Przykrecic kule i blache gniazdka elektrycznego
srubami M12x70.
4.Dokreci¢ wszystkie Sruby momentem wg tabeli.
5. Podtaczy¢ instalacie elektryczng wg instrukgji
fabrycznej samochodu.

M12-8 4 szt

M10x1.25X35

Installation Instructions:
1.Put A and B elements to the stringers so that the holes in these elements

and in the Stringers overlap. Screw these elements with bolts M10x1.25x35.
2.Screw slightly the main bar to the elements A and B with bolts M12x35.
3.Fix tow-ball and socket plate using bolts M12x70.

4.Tighten all the bolts according to the torque setting shown in the table.
5.Connect the electric wires according to the instructions of the car.

Wielko$¢ momentu skrecajacego dla srub (8.8) i nakretek:

Torque setting for bolts (8.8) and nuts:

M8 -25Nm; M10 - 50Nm; M12 - 85Nm; M14 - 135Nm; M16 - 195Nm




